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One day, Isaac Newton decided to take a walk along the foot of a mountain. He had just taken a few steps when rocks began to fall nearby. Isaac was very scared. He looked and saw that a rock rolling down the mountain did not slow down. As he thought about why it did not slow down, the rock hit him. After Isaac got up he made up what he called the law of inertia. Moving objects tend to stay moving. 
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A moving car is a form of inertia. It will stay moving unless something stops it. Usually a brake or a car crash will end car movement. When a car crashes the energy of the inertia is transferred to the body of the driver which will hurt him. This is why seatbelts are important.
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1.
Why did the rocks keep moving down the mountain instead of slowing down or stopping?
Because of the law of inertia, the rocks that are already moving tend to stay moving unless another force is applied to stop them. In this case, the rocks stopped when they hit the ground.
2.
Explain the law of inertia.
An object in motion tends to stay in motion and an object at rest tends to stay at rest unless an external force is applied.
3.
Give an example of inertia in real life besides falling rocks and car crashes.

When you throw a ball, the ball will keep moving until it is stopped by something. Other examples include rolling a bowling ball, riding a roller coaster, or kicking a ball.
4.
Why is it important to wear seatbelts in a car? What would happen without them? 
Seatbelts keep people from flying out of their seats during car crashes. In a car crash, the car stops but a person's body will keep going at the speed of the car unless held down by a seatbelt. Without a seatbelt, you could bump into things and hurt yourself in a car crash. 
